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Multiplication (Vertical) Name:
Solve each problem. Answers
1y 382 2) 602 3) 598 4) 729 X
X 56 21 x 36 X 56 '
2.
3.
4,
5) 228 6) 841 7) 948 8) 392 i
x 60 17 x 76 X 27 '
6.
7.
8.
9 346 10) 528 1D 411 1 713 .
x 22 65 x 57 X 87 '
10.
11.
12.
13) 213 19 473 15) 250 16) 431
13.
X 98 25 x 33 X 86
14,
15.
16.
17) 611 19 199 19) 148 20) 457
17.
X 37 37 x 68 X 56
18.
19.
20.
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Multiplication (Vertical) Name: Answer Key
Solve each problem. Answers
382 2) 602 3) 598 4) 729 X 1392
x 56 x 21 x 36 x 56 | ’
2.292 602 3,588 4.374 , 12,642
+19,100 + 12,040 +17,940 + 36,450
21,392 12,642 21,528 40,824 s _ 21,528
. 40824
228 6) 841 7) 948 8) 392 i 13.680
x 60 X 17 x 76 X 27 ' ’
13,680 5,887 5,688 2.744 s 14297
+38,410 + 66,360 + 7,840
14 297 72 048 10,584 7. (2,048
s 10584
346 10) 528 1D 411 1 713 . 2 612
x 22 x 65 x 57 x 87 | |
692 2.640 2.877 4,991 0 34320
+ 6,920 + 31,680 + 20,550 + 57,040
7.612 34.320 23.427 62,031 1. _ 23427
62,031
213 19 473 15) 250 16) 431 w 20874
x 98 x 25 x 33 x 86 —
1,704 2.365 750 2. 586 11825
+19,170 +9.460 +7,500 + 34,480
20.874 11,825 8.250 37.066 15 8,250
16, 37,066
18 19 20
611 ) 199 ) 148 ) 457 o 22607
X 37 X 37 x 68 X 56
4,277 1,393 1,184 2.742 s 7,363
+ 18,330 +5,970 +8,880 +22.850
22607 7.363 10,064 25 592 0. 10,064
o0, 25,592
1-10 195(90(85|80| 7570|6560 |55 |50
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